
A geometric prooffor
line -1-7=1 thank
x- o

2 FEE,

May 4,2020



We proved Izu . definition

figg cos x = 1 Yotgeuhniaioas
Limo 8¥ = I
-

-

The third remarkable trig . limit is

line 1- cos X
=
I

×→ o
XT 2



Prove this ?
-

(by sandwich

i÷÷÷¥geometric inegiAFTSBTSBT
PT
{ stmeigtliu,

→*
short -dist.

'IEEE:') sina.FEFEE.ie
=3 - 2 cosu



Oh sin n f TAUT E M Hueco,D

algebra
Ginny E 2 G- cosu) E u

' /÷2u2
zfsiuuuj E 1-72 Etz factoid

K€1 , O)

If JE IEeIz -* neGD



'at
'

et:#I
Recall txt tho)01%3 txttho)Yon)

1-HIS sizes 1
Thus

EG - KD's '7¥eZ
Saaduitcksgueere AXEtho)UGA)



Now
,
to use the Sandwich squeezeHm,
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